?)
3)

)
&)

¢)
R)

)

1)

Q)

2)

3)

3)

)

1)

Q)

(9¢) s faemt, TERFGR grRmd gl e

IS
oIl dae
fagegRaaT
RISy
dTgh™H
ST TR
REESJIEE]
CRIECNIBE]
BRI e
q) SR
SUARUTEte AA-eTgR gei MYTTRITS Wiefleiid! Hiureht qurer(ies) Hewam 3ed/3Mmd ?
q) AYhHd R) Hd & 3) feweeRis 8) A T
Which of the following property(ies) is/are important in detecting non-linear behaviour in devices?
1) Saturation 2) Dead zone 3) Hysteresis 4) All the above
fSST T8Y ac/dc Hregcsg Higifenl SRS TR HRIET .......... 3TTe.
q) doRiceg sifdT R) faverg=iar a fdzmn
3) QGUIRT TR therer ¥) Rerdt ot fdhaa
The advantage of using a freewheeling diode with bridge type ac/dc converter is .............
1) Regenerative braking 2) Reliable speed control
3) Improved power factor 4) Reduced cost of the system
AT =AM AN ... SR <offdean Smard
q) THAA Pi Alsel R) THAE T Alsel
3) 9 Pi Hiee Q) TR Fd
Long transmission lines are represented by .............
1) Nominal Pi model 2) Nominal T model

3) Equivalent Pi Model 4) All of the above

) ol I

fS3¥eT SOl UTeR TolicdT qeRID diel aiuR ............ IS,

9) -8% ) 93-R9% 3) ¢-90% 8) Y-C%
The auxiliary power consumption of diesel engine power plants are .............

1) 2-4% 2) 13-21% 3) 8—10% 4) 5-8%

Sioft JeHe, feeiel SolF AR ... T I AT
9) 400-9200 rpm ?) 9300 — 3000 rpm 3) 3000-4000 rpm  ¥) 4000 rpm
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2)

3)

3)

8)

4)

4)

5)

)

6)

7)

In DG sets, diesel engine is typically running at speeds of .............
1) 500-1200 rpm 2) 1300 - 3000 rpm  3) 3000-5000 rpm 4) above 5000 rpm

S S IO Y fTASHTS!, IR edigd aiuRe! Si...............

9) Yec et R) D caigd 3) WA g ) UUeR cdfed

For high head and low discharge, the water turbine used is .............

1) Pelton wheel 2) Kaplan turbine 3) Francis turbine 4) Propeller turbine
AR AT HIGHT Jqelivig RRAT = THIGdT JIScHYT SRR SR Qhial HaTg ... TRUA
3G AT,

9) fRR Ry R Q) T Rt fRReT

3) &ftrep R fRRAT ¥) SU-&firn R RRRar

Maximum flow of power through a point without losing the stability with sudden large changes in
the load is known as .............

1) Steady state stability 2) Dynamic state stability

3) Transient state stability 4) Sub-transient state stability

r.m.s I P JoITa TONTR FIRA AT Jo FeUd 3Nesedel STl

9) ®iF %haex ) Uld thaex 3) UleR haex ¥) e thaey
The ratio of maximum value to the r.m.s. value of an alternating quantity is known as
1) form factor 2) peak factor 3) power factor 4) distortikon factor

......... ISTT I PRUTAIS! S9Geh 3ATE S YR AT Resrelt Alefed iR W qee ord.
9) Rt =1 ) ST 99 ST qIR

3) At (9) amfdr () 8) TR P I

.......... scheme is useful for most of the purposes where the loads and continuity of supply justify
additional costs.

1) Single bus 2) Double bus double breaker

3) Both (1) and (2) 4) None of the above

Ticqe AU hedlaR FaIdfeld UlaR thaeX BholoRAg DURICK.............
9) T T@lecsT HT Ra Q) TAYIET YR YT aread
3) fieHYyd Preciell ufifshanedicl orhl &t axd @) USAYT Piectel Al achl HHT aRd

Capacitors with automatic power factor controller when installed in a plant .............
1) reduces the voltage of the plant

2) increases the load current of the plant

3) reduces the reactive power drawn from the grid

4) reduces the active power drawn from the grid

feiet iR ToticaT 3Tacid IRUITAT HRIGT Tl ITyH 0] T8l &l ?
q) FHt Ty Q) P TR @
3) Fald drRieY gt HEERT ¥) fPa™ e Ut JasRIhdT
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8) Following is not the advantage of adopting diesel power plant ?
1) less pollution 2) low installation cost
3) most efficient plant performance 4) minimum cooling water requirements

)  WeileTddhl PIUAT ThRaT UY UehedTaiic U0 TTesct PIGUITITST TaReAT STl ?

q) Foc q Q) rer ud 3) §IS Uq 8) et du
9)  Which of the following types of pump is used for removing leakage water from a plant ?
1) Draught pump 2) Grape pump 3) Drainage pump 4) Tumbril pump

90) WRR RRL 3NN ¥ RS g Wiefierdehl PIurd gRael ST ?

) TAATST Q) U ug 3) SUR ) BRE M TaegieecdTdTd
10) Which of the following is provided as a fire hydrant and spray system ?
1) Water reservoir 2) Water pumps 3) Impeller 4) Hydrantand HVWSS
3) fgagRast
9) AR INOT TercHAT et diTqefiaT PTG aTIReAT SIUI=IT Sadidh ool oAl ............ BE
SR RATT.
q) Yoo [ R) 9.4 HR 3) R Hicx 8) 4 Hicx

1)  The length of the flexible conduit used for connection between the terminal boxes of motor and
starters shall not exceed..............

1) 500 cm 2) 1.25 metres 3) 2 metres 4) 5 metres

) TIRPT IR, R I 3Mhede IR ... T UBR ...

q) R, Rt R) R, I H 3) 3, Ritera 8) 3, QF aml
2) Instaircase wiring, the number of switches required are ....... and of the type .............
1) 2,singleway 2) 2,two way 3) 3,singleway 4) 3,two way
3) e, W eHad fIeRUT TFABIR FARTIRITS! Ulel AR SHRe 3TTed.
9) yo kVA Q) 900 kVA 3) Yo kVA 8) 400 kVA
3) Pole substations are erected for mounting distribution transformers of capacity upto .............
1) 50kVA 2) 100 kVA 3) 250 kVA 4) 500 kVA
®) TR ............. T JMUR TTEHTT TR STRT HTofi T0MET .

q) TepT feaar o kKWH + 3%

Q) bl Hig=ATT PIUIATE! &0l Plgeiel Fard IS kVA

3) DIV Fe 30 HfeiCR=IM digetel daid #ar kVA. Fdie
8) TepT feaTd Uepur kVAH + 9

4)  MSEDCL calculates maximum demand of a consumer on the basis of .............
1) Total kWH in a day + 24
2) Largest kVA drawn at any instant in a month
3) Largest kVA drawn during any consecutive 30 min. slot
4) Total kVAH in a day + 24
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4)

5)

)

6)

)

1)

Elefie TR Fedid wafg () O () welieT gora UM feaer,

R feRor Jpa SiifcearrsieT e, Iuaey fafdy s FHEe gk

9) YleR therex GURUT,

Q) Rifferqed AR 3vaH AIfST.

3) I @locord O SR 3ed 312 hied o alrg~Ta - 3for S—apsfare,

¥) 4 Sfegffam 3T U eacx (AAAC) Vasht g™ Bics ¥l RThe (ACSR) = fas,

Select the incorrect statement from options (1) to (4) with respect to following scenario.

“In system distribution loss optimization, the various options available include

1) power factor improvement.

2) optimum loading of transformers in the system.

3) re-routing and re-conducting such feeders and lines where the voltage drops are higher.

4) selection of Aluminium Cored Steel Reinforced (ACSR) instead of All Aluminium Alloy
Conductors (AAAC).

q1Ryes SUTAIAT ST foremed geffareams o Seme araReT ST el earet Jmmft (MD) ....... 3.
9) kW A& F5R dle

Q) nfgmed TR kVA Aicaet et

3) Hig=IT=AT 3T PIVIATE! TehT HIUAT JTeR™ Aicaciel Har AR kVA

) dlcplos Farg kKVA Hig-ITaT 31T Pivicdmgl desl Aicaet et

Maximum Demand (MD) of electricity used in industry as shown in a monthly utility electricity
billis the .............

1) sanctioned load in kW

2) average k VA recorded within the month

3) highest average kVArecorded during any one demand interval within the month

4) instantaneous highest kVA recorded during any point of time within the month

IR WP 53 sirmeiar waar w7 ... 3.

) SFIF — PIEYIH — AT T TR — TFsine

Q) P — S8 — UFSINC — SN 3T gfaR

3) SSFIF — PIUIH — UFsIRe — S 3IOT TR

¥) P — A9 IO TfaR — IRUT — TI=ARCT

The sequence of strokes in four stroke diesel engine is .............
1) Induction — Compression — Ignition and Power — Exhaust
2) Compression — Induction — Exhaust — Ignition and Power
3) Induction — Compression — Exhaust — Ignition and Power
4) Compression — Ignition and Power — Induction — Exhaust
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)

1)

?)

2)

3)

3)

%)

.
SUDHHNIS! DIV SIS IRART HHe! SITATT ?

q) fafre Tocaremr -y UeT HHY rfelel TS

R) faf3rE TocaTepsur Y Y& SR 3ietel Q8

3) Y:0 M Y-0 T AT TocaTpYU 3RIclel TS

8) 3-4 M g-4 I AAT [oearepuvr 3RAelel TS
Which stones are considered unsuitable for construction ?
1) Stones having specific gravity less than 2-5

2) Stones having specific gravity greater than 2:5

3) Stones having specific gravity in between 5:0 and 7-0
4) Stones having specific gravity in between 3-5 and 4-5

Qleflel Tedhr R ax:
a) WP Y b) NI ugd
DELBIERIEIES] d) foroedt @t

R TS Beled] TCHIUD! DIVKT TCh ANCTAIS! TALIH FhICHIAT FHIUNER GROTH S ?
q) (b) 3T (c) Q) (a) ST (b) 3) (c) aor (d) 8) aNieT |

Consider the following factors :

a) Nature of rock b) Method of tunnelling

¢) Profile of tunnel d) Depth of lift

Which of the factors stated above affect the quantity of explosives required for blasting ?
1) (b) and (¢) 2) (a) and (b) 3) (¢) and (d) 4) All of the above

Hawt Jerie e fsmeaTd! Wrefiatdt Do Ig 9o 3R ?

a) TS IUIR HIHAATS! TepIuar STR<T gfAic TG a0l dilel.

b) T4 AT AT ITIUR TTebTdel.

¢) TIQICTSD ST MaHTD T Fq—TIeecrdl N GA1edd pefl Uifgs.

gt SR :

(9) B (a) 3T (b)  (R) Hh (b) S (c) (3) Feh (a) MU (c) () He 7
Which of the following points are valid for design of sewage treatment plants ?

a) It is better to provide more than one unit for each treatment process.

b) Preferably by-passes should be avoided for all units.

¢) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :
(1) Only (a) and (b)  (2) Only (b) and (c) (3)Only (a)and (c)  (4) All of the above

STeg] Uep IferT ¢ TERaR Rl aRied, <iegl qul HTeT GPUTRT &0 SITH gisel Sical
) SRS SR IR TET HEIHRN St STl

R) PHTE R 37T UhR STl ST bl TERET HEI SHHTel WR AT GRUTH WRTIRTT FHT SRTER SR,

3) URuHT YR TR ALTHT el STl AT AR R R 3ael S,
g) TS AR SR SR R TTehed] STl AT TRIR $eR AR TTebedl ST,

TE § 9 7T & QURISNITS! SUYwh UHIE : W fasm= / 903



4)

4)

5)

&)

6)

7)

1)

1)

When a rolling train is moving on a girder, then absolute maximum bending moment will be

obtained when

1) maximum load is placed on the middle of the girder.

2) maximum load is placed such that middle of girder is equidistant from maximum load and
resultant load.

3) resultant load is placed on the middle of the girder and other loads are placed accordingly.

4) maximum load is placed on the middle of the girder and other loads are placed accordingly.’

PR T WA Flerd IUTeH 3TITUT hifshe HRIeReAT i fohy Foefd Icure v fiasTetedr
PIchicTAT TS Bl

9) FafRyecd ATAH R) fIreR ATUH 3) Joo A ¥) aRITUDT AT

The loss of prestress is due to ereep of concrete obtained as the product of of the prestressing
steel and the ultimate creep strain of concrete fibre.

1) Modulus of Elasticity 2) Shear modulus

3) Bulk modulus 4) None of the above

TR DfhCHE DIVT BRUTHS SeI-IRAIT Dbl AT 3TR ?

9) R ISt maRTRIe s 33T ot

Q) JE-RhIT Dishic 3MGPad YTAUIRT HH! STAECR S

3) ST-IRhIT Pishic quITE 3T HIRYT T 18 T SR Io Ui <ot

¥) TRl Fd

Due to which reasons is high-strength concrete necessary in prestressed concrete ?

1) To design commercial anchorage for prestressing steel

2) High-strength concrete is less liable to shrinkage cracks

3) High-strength concrete offers high resistance in tension and shear, as well as in bond and
bearing

4) All of the above

Teiietderl v s anfor Ret fafeen uleme FHifdE amg?

q) Uglel Arcaur febar foreRur gfaer R) TR IRE YHel JhATT
3) YRMES SR YRV JhAM &l 8) eRhi i Jebar

Which of the following is included in control and relay building hazards ?

1) Gasoline storage or dispensing facilities

2) Thermal damage caused to the building structure

3) Smoke damage caused to other equipment

4) Mechanical damage by force

€) SMURI AT

TefleTidh! DI ST ST ded ATal ?

9. g9 2. Gt 3. ATSRY 8. Mg
Which of the following is NOT a principle of disaster management?

1. Rescue 2.Recovery 3. Reconciliation 4. Recognition
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Q)

2)

)

1)

Q)

2)

GTefIeTddhT DU iR Cefictfiel il ¢l oHl eRuaNT AGd avd ?
9) 3SR fhal STEIBR 3MgA-Selcs IUDBRII

R) 3Jigel-ggeics el

3) AT T PRAI

8) TAIgS-Pes Rihd He~R

Which of the following helps reduce fire hazards in a power plant ?

1) Outdoor or indoor oil-insulated equipment 2) Oil-insulated cable
3) Are quenching by gas 4) Hydrogen-cooled synchronous condensers

9) TTRATIH

Yehed HeIehTed] FHaceecrea fIeeisurme) Wietictidh! vl JeEiar FHaer gl ?
31) faem™ wreaefiven et @) R g,

q) UeheqTeA] X< I Har fhdined seat (are fohar 1e).

P) WA TR §Ca.

) o 37T gges AT IeTed UTdwid Sqal.

3) UDHIRIS! SR dheledl SIS e,

gl I :

99 F F§ @D 3
) d § T I
3) 8§ 9§ 3F B

¥) 3§ 9 F 3

The sensitivity analysis of the project appraisal includes which of the following points ?
a) Consideration of the length of the period over the existing one.

b) Changes (increase or decrease) in prices of goods and services of the project.

c) Changes in the levels of cost.

d) Changes in the yield levels of crops and livestock.

e) Amount of subsidy released for project.

Answer options :

1) a b c e
2) ¢ e d a
3) d b a c
4) e b a d

FIFR (i) M1 T SR ararervr (AefF) Jreandial deur@r e o™ Sl ARgaRaheted

IR P HROINT TG IRAl Tl U,
9) ITRATRID T Q) ThIhIfSRIT
3) AN TR ) T

The scientific study of the relationship between the workman (People) and his working environment
(Machine) that helps in reduction of musculoskeletal disorders is called

1) occupational disease 2) acrophobia

3) psychological study 4) ergonomics
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3)

3)

8)

4)

4)

5)

&)

6)

)

7)

OSHA T6R, STEL ¥ qof 9 #1F a8 ?

9) oS oH TrguR TafeT R) R IR TaUoR dTcest
3) GREM e Thich Al ¥) YD Fhich TTdod!

As per OSHA, what is the full form of STEL?

1) Short Term Exposure Limit 2) Safety Toxic Exposure Level
3) Safety Transport Explosive Limit 4) Short Term Explosive Level

It PR e R aRar 3 2

q) SeTHthes JAae AR STSIaredrd B PRUMIT Slg-gda AMUEY Yol bes TTENd

R) U g AU DB PR IR

3) faea sl Hifecfer e =

) TRhQRIE! PHedl JMYFH 37T,

Which of the following statements holds true according to the passage ?

1) Royal Society of London refused to publish the research articles written by a gatekeeper
named Leeuwenhoek

2) Church served the powerful classes
3) Science does not include a store of experimental information

4) The idea of copyright is modern

8) AT IS UTSun=aT Hifgcie Fasiaul fHesd.

According to the passage, patent and copyright are insisted upon because
1) One cannot take any risk in science

2) Tools of production are privately owned

3) Royal Society approves the patents

4) They offer an explanation for perplexing data

U] ATRRINGSTT AT IR T, A faaer divredn g Jfad del S ?

9. AeF .O 3. Wisddl 8.3

When considering a sample instead of the entire population, by which symbol is the standard
deviation denoted?

1.Small S 2.0 3. Capital S 4.5

R sreedell SR ST 3Rieiel T

9. T [ R. Sfefq HaTd 3. B 8. faREesdId
The components with greater affinity towards the stationary phase

1. travel slow 2. travel fast 3. forms 4. gets disolved
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)

1)

)

2)

3)

3)

8)

4)

“)

5)

A K: 11 ik NI G|
feSTTe Wrefielien! DIurdT G ggaeliR FRIeueR facier SRl ?

9) 3FI9eETg Q) g 3) FuRarg g) dafher SIIHa
Which of the following approaches of science relies on systematic observations ?
1) Empiricism 2) Rationalism 3) Determinism 4) Personal experience

a) e gaiue R a0 b) JIRITDRMAT aiUg G PRI

¢) ST PhISHeed YU PBIg TPl d) ¥ Mre TR Pig bl
qift S :

9) ¥h a ) ®mh b 3) Beh C %) a, b 3mfor d wh
Matching is done in case control study to ........

a) Eliminate selection bias b) Eliminate interviewer's bias

¢) Remove effects of known confounders d) Remove effects of unknown confounder
Answer Options :

1) aonly 2) b only 3) c only 4)a,bandd only

I Tiie goN N1 qaRg, IgeuaTed] SiigTaee [aRuan 3ffel Siegl o FHafiador Sd qurofac!

3TTeT SATOT QTR TeaTdeh! fahell STONHT AleTaTe I ST 3Me ¢ UTeUITRAIG! UToYRTaT hell. SRR
TPR P 3N ?
9) PN A Q) B B 3) T T ) GiaRu

Thirty adult male patients were asked about the history of tobacco chewing when they came for
regular dental checkup and then followed up to see how many of them had oral malignancy. What
is the type of study ?

1) Cross sectional 2) Case control 3) Prospective cohort 4) Ecological

9) IR |19 ?) e A9 3) it g ) HEIHTSHTOY TUHT hett
Standard deviation s ...

1) A measure of average 2) A measure of variation

3) The same as range 4) Calculated like median

SIRGH Gcdh NBGUIRIIST 3N STRIHAT YHIUIET 3icTsT SUTaTS! Wiefleiidh! ol AgMRITIS
Jgd! aTIRST TS TR ?

9) HHE IARART 30T Argfeksep =01 Fraof R) P Py A PRI ITe

3) B gl M7 HiT AT TSI ) TE I 3T Gfervii 1y
Which of the following epidemiologic methods can be used to identify risk factors and estimate
the degree of risk ?

1) Cohort study and Randomised Control Trial 2) Case control and cohort study
3) Case control and cross sectional studies 4) Cohort study and ecological studies

e § 9 7T & QEURISITS! SUYwh ULAHIE : WM fasm= / 900



&)

6)

8)

Q)

9)

90)

10)

99)

1)

DA TR IUR

q) TR/ Tl TR0

R) RN Pramaedt I M1 Fd I FeROT! (TN ST ST) aRaRd
3) Weh S, IR faeEE Heor

®) uredT 39 H Sl /G TTe] O JRARAT.

Period prevalence measures :

1) All new cases of disease

2) Frequency of all current cases of disease (new and old) during a defined period
3) Only old, existing cases of disease

4) Frequency of all current cases on May 31 of a year.

S olieh houATT fohal AT TRIR 3ATMOT 3Tdels hrugRT 31 dod ©idTd <Ii-T Furald

q) Fafed R) PR TG 3) TR GSUIR 8) 7 T
Those who take more time for diffusion and adoption of idea or technology are called as
1) Innovators 2) Early majority 3) Laggards 4) Opinion leaders

Harerean fafder gt P Tgdmed 3IRT SRT 91T 3Me

9) g UG R) TN UG 3) dafehd uga ) MY Ugd
Amongst the different communication methods, in which method “Study Tour” is included
1) Group method 2) Mass method 3) Individual method = 4) Virtual method

IR eI ASRIAEY BIATRM Blel ATHIGR A0l Halg ATeell Sl a1 Aihia 3/
FUldTd.

q) HER R) TRR 3) B 8) ATl PIEE TR
The process by which innovation is communicated through certain channels over time among the
members of a social system is called as

1) Communication 2) Diffusion 3) Adoption 4) None of the above

ST Hed Tebeh e,

9) AR ) T 3) Pcs 8) A
1s the basic unit of society.
1) Neighbourhood 2) Group 3) Family 4) Community

Teh THAT SYMEY 'Y’ Ao FASHe Yedeh HHTed FHArel! fHers gvar w|M At s/id same
T FaeuaTdt T weit Sefier gfud B,

q) F-Igfksed T Q) 1Y IS AT

3) TR A T 8) AT AGfoed T

A sampling in which each possible sample of ‘n’ different units has an equal chance of being
selected which also implies an equal chance of selection into the sample is called as

1) quasi-random sampling 2) simple random sampling

3) stratified random sampling 4) multistage random sampling
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)

1)

Q)

2)

3)

3)

4)

“)

5)

Q) IrIfaEmA
e SATSTRTT NI SiGRT AqUarITS! Jaid Sugth HUGS FgURT .........

9) %% g X (CFR) ?) G &gl X (SAR)

3) "o 8) HHIO Feg T (SMR

Most useful parameter to predict the virulence of acute illness is .........

1) Case Fatality Rate (CFR) 2) Secondary Attack Rate (SAR)

3) Incidence 4) Standardised Mortality Ratio (SMR)
SWOT %Ur! 13 ?

q) A, HHHATUU, FSAc, UHIT Q) MY, PHHDATUUN, Hefl, YHeFT

3) M, HHGAqUUN, ARFEd, AR 8) HSIL, PAPAd, AU, @R
Whatis SWOT ?

1) Strength, Weakness, Obstacles, Threats

2) Strength, Weakness, Opportunities, Threats
3) Strength, Weakness, Orientation, Thought
4) Strong, Weak, Obstacles, Thought

(FeAfehel gRICHdT ISl STFeled] ST F1d BRI 3Tg Samed feafihel gRieT qul glsudid Jgamt
DIV IFAR fohaT FEAET PRA AT & TSN {haT FLNUBIAT HIGId THd 2

q) foRd-31y . Q) SRS IR 3) Y JR™ 8) SIHAST TR
What is the name of the study that involves clinical traial in which neither the participants nor the

researcher knows which treatment or intervention participants are receiving until the clinical
trial is over ?

1) Triple-blind study - 2) Double-blind study 3) Blind study 4) Empirical study

SR a1 37 fafder TR SRispHeaT GROTHGRGIT FddH PIUId 2

9) geAr Q) TR 3) TR ¥) GTOH 3MPHI
Which is the better indicator of efficacy of health case services and various health programs ?
1) Incidence 2) Prevalence 3) Case fatality rate ~ 4) Secondary attack rate

AT T URHTUETS Tgeiie Wiefietidh! PDIvd SEERUl JATRd ?

a) ARATHD T b) A c) Xgd Il d) fofa gor
R SR :

9) %k a 3T b Q) a 3l ¢ Beh 3) c 37T d eh %) b 3T d Fh

Which of the following are example of quantitative method of management techniques ?

a) Organizational design b) Communication

c¢) Cost accounting d) Decision making

Answer Options :

I)aandb only 2)aand c only 3) cand d only 4)band d only
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&)

6)

7)

8)

R)

9)

S P PRUTAT fpcll FAIBHT ERITRSM 3ATg @ JURASIel HIed 30T JATERID AR, I PHIora
YpRa] INIRT Sifredr 3mme ?

9) BT Bl T Q) PaIC wTet 3) Hies T ¥) HRT AFIFA TSl
An investigator needs to know how many people working in a bank have hypertension. What is the
type of study represented here ?

1) Case control study 2) Cohort study

3) Field trial 4) Cross sectional study

BRI SThSARIT Wi Wiehdl [TUTT R 1. M!S /g 37med ?

a) DU JHSART UTSTeh ATal Heh 79T USH Pl

b) FENIA T IRARTT SRS ST JMMBeaR! & Uh ERE qrigdid 3Te.

¢) DRI ThSIRT AR JHarea RIS 30T FeIHORIS! Hiegar Alfed! e a-d el

d) DRI STHSART AP HICII{ees FH=ITe! Hifge! o

gt SR :

9) a %h ?) a 37l b Hh 3) ¢ a7fr d %eh ¥) d h

Consider the following statement in regards to hospital statistics. Which of them is/are correct?

a) Hospital statistics provides only numerator not denominator.

b) Hospital statistics is a poor guide to estimation of disease frequency in community.

c) Hospital statistics do not provide valuable information for planning and evaluation of health
case services.

d) Hospital statics provide information on a representative sample of population.

Options :

1) a only 2)aand b only 3) cand d only 4) d only

UTfiep SRR, RS e Sed 3R

9) RIS IR

R) ¢ AIGHT TR DT qIRUAN A <, M JTIReAT SIomdf [ifkegehid dardt ot arax.
3) B I FepTeliggel (Ul SUaRT AGd el

8) g e Arauiiaed YR ©E IO FAAUAR Rl BHT AR

In an experimental study, the purpose of control group is

1) Experimental treatment

2) It allows larger number of patients to be used, thus increasing the power of the statistical
techniques used.

3) It helps to make judgements about the results of the study.

4) It reduces the likelihood of making in type II error in hypothesis testing

garaTclt fohar fCamel SRURY HIfRcT ST RO FR PRUIRAS! aTRad! ST, .

9) IR FILH Q) IR fareror 3) ™R ) afdhety
Information of a biased or misleading nature used to promote political cause is...
1) Health Promotion 2) Health Education  3) Propaganda 4) Advocacy
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Principles of health education include all except.
1) Participation 2) Motivation 3) Reinforcement 4) Punishment

e I FRUTIIS! STIRID DI PO SR ?

9) Y TIR I INOT fChgy 3ar MOT Harg TG A1 ST areranet ot
R) WY R 3T ST e Herges Bl o FHS B

3) UREReBTET PRIGT dTORT AT AePRIcHD A9 fHI0T b1

Q) Rl T4

What are the essential skills to manage conflict ?

1) Create and maintain bond and establish dialogue and negotiate

2) Put the fish on the table and understand what causes conflict

3) Use the law of reciprocity and build positive relationship
4) All of the above

I I R Fed AU AR =i

a) g SNI[ID P BRI SSIRM Jog_ AT STRGHIE HISTHIT .

b) B TN fagiteft Shed.

¢) g fauamen, I/ Uee fohal SR siedeied I FRieiedl Jegeal PHRUMMIG! dToRel SIS 2ehd]
AT,

Rt DIl U™ SRIeR /31 2

9) %eh a ) eh a 3L b 3) Weh a 37T ¢ ¥) eh C

Consider the statements regarding case fatality rate :

a) It measures risk of persons dying from certain disease within a given time period.

b) It links mortality to morbidity.

c¢) It cannot be used in poisoning, chemical exposure or other short term non disease cause of
death.

Which of the above statements is/are correct ?
1)Only a 2)Only aand b 3)Onlyaandc 4) only c

IR WA FHICE 37T ...

q) IfeT/Iucry /AR /AT Db Iidl e,

Q) SUctey 3T HefRrT ser SMfr AR arR

3) WTUTIEhH, CISAAS ST dolcd SRR T

Q) R T4

Operation planning include ....

1) Statement of purpose/deliverables/targets to be achieved/success indicators.
2) Use of available and relevant data and information

3) Prioritization, follow timeline and budget
4) All of the above
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9. AR el R. JAreHETd Bt 3. T g 8. PRSI gSUI
The ligature mark is horizontal in:
1. judicial hanging 2. suicidal hanging 3. strangulation 4. dry drowning

SR U &l a1ast reneiRa form e awvarht ger ugd amR.

9. PUTe 2. TRA 3. BRR Q. ST
The Phenice method is a visual method of sexing the

1. cranium 2. humerus 3. ribs 4. pelvis
N 0! g U e 3Me:

9. geggd el eREICIRACL 3. URCHICH Wil 8. geul
Dribbling of saliva is a feature of:

1. antemortem hanging 2. strangulation

3. post-mortem hanging 4. drowning

FISIcT 81 0T ST Ueh UhR 3Te:

9. AR Q. B 3. ollhel DI 8. PIURF DUl
Bansdola is a form of strangulation by:
1. ligature 2. hands 3. wooden sticks 4. bend of elbow

‘La facies sympathique’ & Rt @reflet aTechia g A
9. reft <or 2. T &0 3. TSHN ToY 8. Ned e
The condition ‘La facies sympathique’ is observed in case of:

1. hanging 2. strangulation 3. throttling 4. railway accidents

g Wietledeh! DIV fehaT AU HITedl ST A8l 2

9. Siec AT R. oflegR 3fFeH 3. 4 3faed 8. ITHA IR

Which of the following is NOT considered as an action mechanism in a firearm?

1. Bolt action 2. Lever action 3. Pump action 4. Rifle bored
&) SgpIcicT SicRia SRer T,

9. 3T R. R &ild

3. BRIRT 09 feeamae a1 Q. TIRR IR
1s NOT an internal safety in a firearm.

1. Thumb 2. Hammer block

3. Firing pin disconnect 4. Transfer bar
g oS Oe AR

9. BRIRT O 91 91 2. %ed Ot 3. Tl s A Q. TR HIE
are NOT striated marks.

1. Firing pin drag marks 2. Phantom marks

3. Concentric breech marks 4. Chamber marks
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13.

TIegR TGP SNBEUIRT Aed R o o FUiRa o=
9. gelcar fFmfar.

2. fafdre Mest stTeu= erET aTe.

3. oreran .

g. fafere Mt Areau=IT SghrAT TR,

A cannelure helps in firearm identification as it determines:
1. the manufacturer of the bullet.

2. the identity of the weapon that fired a particular bullet.

3. the manufacturer of the weapon.

4. the type of gun that fired a particular bullet.

g8 T DI THUM fohar Hulet! gTeesult, SAlfet, BRI 37T 1SS BIGU dHegk PR 2

9. Gl 2. Sge 3. daRT 8. TeaSl

Which mechanism or system of a hand gun covers manipulating, loading, firing and extracting
rounds?

1. Action 2. Breach 3. Chambering 4. Grouping

AR O HregEredT MIgHReT Ioaford aRuarTs! B =0T 3me

9. fopar 2. BT 3. grareT i)
The mechanism that causes the firing pin to ignite the primer of a cartridge 1s
1. action 2. backstrap 3. hammer 4. breech

¢S JOR Sfehexds o8 fiel ST BRI

9. T CRIRET P TR ST IHEIAT o SNSREUITT Hed] o ADI.

2. TIhs 3R 37 3MMEd S ST SV TRRAT YR To5egelT.

3. O JEICT CRIRAT 91 JNaudTet YAl <. (SR &l lesl 1)

8. d PR AN <hia folll ITS % eI

Attention is paid to tread wear indicators because:

1. they can help pinpoint the part of the tire which made the impression.

2. they have numbers that identify the kind of tire that made the impression.
3. they allow you to identify the colour of the tire. (if it was not black)

4. they can reveal the gender of the person who drove the car.

NABL =R,

9, TRNMSRITS! MFT T Hees

2. vl TRIMIIGATS! MERT AT Hesb

3. DI TRINAGRITS! T I T

. ruly MfOT PHfeTse™ TSRS MET T Hees

NABL stands for:

1. National Accreditation Board for Laboratories

2. National Accreditation Board for Testing Laboratories

3. National Accreditation Board for Calibration Laboratories

4. National Accreditation Board for Testing and Calibration Laboratories
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Accreditation to a laboratory shall be valid for a period of years.

1.5 2.3 3.2 4.6
WTeiIeie! PV YR S5 T feward 2

9. llpe :.Ue 3. B 8. U,
In which of the following evidences are the Becke lines seen?

1. Wood 2. Paint 3. Glass 4. Metal
T ’%’W@f:

9. M T JSHFTER grel HR00 2. TiR TS 7S i WROT
3. TIH MR freRT AR 8. TR wic IGaAu

Peening means:

1. hammering the surface with a round punch

2. filling away the original number with a power grinder
3. stamping the new number

4. changing the number plate

P AT AIGR TR el ST

9. grarer 2. PX 3. dr 3. fsa1 gefi=
Compression marks are produced by:

1. hammer 2. cutter 3. saw 4. drill machine

1. "B eRaAlD B’ RV URIE 3ifelel USHS dldle, BIRID AT &1 STURRIET 78U
DM RO JerHd SMURTAT HHTRATSH Hedl 3Alosel ST, @I DIV e et ?

9. 1Y 3.

2. UUd YD U o Aledl.

3. SR PRI 9P 8 Iqhd, T J gleel.

8. T TSt FHI iy foreeg Hfcifehan arAal.

Dr. Edmond Locard, renowned as the ‘Sherlock Holmes of France’, is widely acknowledged for
his formulation of a fundamental premise that serves as a cornerstone in the field of forensic
science. What principle did he propose?

1. Keep it simple. 2. Every contact leaves a trace.

3. If anything can go wrong, it will. 4. For every action there is an equal and opposite reaction.

TR Thaned) fgifhe dhetedn STomelt feen g emR? Wl

9. ufeem .Yd 3. gfarr 8. W
What is the direction of the arrow marked in crime scene sketch?Options :
1. West 2. East 3. South 4. North
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24.

FiT TR Uikl |d fopTapera T JMeeM < S0l kAT BRf axel art S
Uerdt WGt UM deel
q. TEINGST I fhaT avITae Q. JAOrT Jodich
3. wfepar a0 . GHTOfIepROT

challenges all activities in a new laboratory process in order to provide a high level of
assurance that the process will function as intended in the live environment.
1. Document control or management 2. Proficiency assessment
3. Process control 4. Validation

TR epTetiedn TUratiar ST JgaTelieal Uiexiar. YIRUIT SR arauiifeara goRk- Hisha
SEEHAR PRRT e Il @R STaRIe! PRI gefiar d 3Te:

9. TJUreRIT R0 2. TUrerT gH

3. TUERT ST HUTTeA! 9. AT

A set of planned actions to provide assurance that the processes, other than testing, that influence
the quality of the laboratory's results and reports are operating as intended is:

1. quality control 2. quality assurance

3. quality management system 4. compliance

BRRID Ao, ThST Trual Eefle IS BedT ST

9. TICYR 3T R. TfeTT el

3. gRYTUErEE fAsetsor Q. eref-aRmmuares fagersor

In forensic analysis, the screening tests are performed for the purpose of:

1. tentative identification 2. definite identification

3. quantitative analysis 4. semi-quantitative analysis

STeBUIedIeAT [Ired] fSepTler fAcleledl HR aReal USRS A1 SR 3TTe.

9. U DU IRelel feT drad Q. wifed fAerd

3. PaS! fuert 8. Hleteg Brrqr fagrdt

The appropriate container for packaging debris items obtained from an arson crime scene is a
1. tin box with tight lid 2. plastic bag

3. cloth bag 4. sealed paper bag

eIl GeATT JThR [elral YbR, YR T A0 IR 3T IR,

9. QR TPR 2. FARydra fSeror

3. RIS aTdTeRul 8. T foemfl srftrpr=ared dvean

The size of a crime scene depends on the type of crime, the location of the evidence and the
1. typ;_of evidence 2. location of suspect

3. climate of crime scene 4. number of officers in the crime scene
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9. 3ffceehel WeR Ugd 2. 3Bl Ugd 3. T Ugd 8. AW ugd

In which of the following methods of barefoot examination is an outline of an identified footprint
drawn and positioned over an unknown footprint and compared?

1. Optical centre method 2. Overlay method

3. Gunn method 4. Composite method

TRl 3Tl ETefieTh! PIURT GRIVGSTIERYT el ST ATl 2

9. I foT fegfeammhy 2. AilC U

3. TbfT 8. UV a7for IR gAfomT

Which of the following is NOT a type of documentation done at crime scene?

1. Photography and videography 2. Note-making

3. Sketching 4.UV and IR imaging

TR FEUT;

9. TP TR HROI 2. ya-FuiR AT geiar eRor
3. Presoll @d THET §900 8. U] G o
Accreditation means:

1. conducting assessment 2. meeting pre-determined standards
3. making care cost effective 4. ensuring quality
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